/

{

Dho] ~ .
A) Ptl ‘reto'm.bu}ed. Cycle Power Station is Operated b .
® o veli Lignite Corporation India Ltd. T
© R“!&\Sthan State Mines and Minerals 1 14
® AJasthan Rajya Vidyut Utpadan Nigam.
Adanip . X gam Ltd,
(E) = an Power Kawai
%ﬁ?'Tg{ Sllk‘§t101\ notattempted
2} & e . s . o
) RS wrzfewer qraw @qumﬁgﬁﬁﬁﬁﬁgﬁ;mwﬁm%‘)
W e ferge form v fafies
®) e
& mm T e iR af fafies
Q- s T U T sear fem fafiveg
THT TR s
E
N ) sryafa we
. Who has bee . .
@A) L;::"é:;:‘ppointed as the first woman High Commissioner to India by Britain ?
®)  Lindy c:x:f: ar (B)  Gill Atkinson (©  Alicia Herbert
i T b “5 ﬁ;_r{:“ (E)  Question notattempted
e gwmﬁmﬁwmw7
O ,3“ I TR ®) i wefiem © fafaa we
8 o ()  srgafage
3. Given below are two statements :
Statement () First Prime Mini Wi g g
: rime Minister of India wished to achieve the objectives of Foreign Policy throu gh the
Statement (II Slra.te gy of non-ahgnm ent. e
nt (II) : India was never trying to convince the other developing countries about the policy of
T ST non-alignment. P .
nthe hight of the above statements, choose the most a jabiafl i ;
o . ppropriate answer from the opti 4
(A) Statement (I) is incorrect but Statement (IT) is correct. 7 SPpHonsiyen below,
(®B) Both Statement (I) and Statement (II) are correct.
(©  Both Statement (I) and Statement (II) are incorrect.
(D)  Statement (I) is correct but Statement (II) is incorrect.
E) Question not attempted
= <1 A Ry € :
U (I): m%umuﬁﬁ%ﬁﬁ%maﬁﬁzﬁﬁw%%mm@mmm S
T (1) \'Wﬁmiﬁﬂﬁ%aﬁﬁ amr.ﬁﬁmﬁa%sﬁﬁwm%m R T w1 S wa w6
S FEEl & S A, i R T faemedl # 4 we Suge s g |
(A) YT (1) T 8, Al we (1) T B
B) WU (1) ST (1) = E
© @ (1) SR HE (1) T e €
@) e (1) FE E, A we (1) e ¥
4. Who is the author of song ‘Dharti Dhoran Ri’?
(A) Kanhaiya Lal Sethia (B)  Vijaydan Detha (©)  Allah Jilai Bai
() Gavari Devi (E)  Question notattempted
Cercet v T S TR (SEe) FE E 2 '
W e A ®) Provmm Sl ©  3Teee forems aré
(D) et <& ® TR
~ B23 2
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m‘ '!m: é”( GIQIQ:R ?‘ﬁ?a 018!" ""q‘,u = éx,oﬁm :\%{Wmm%\‘\d 2

\\‘hﬁ‘ ofthe fo!lmﬁng i

n RNG 2 Type of computer networ, >
6 N ® ®|x @  STAR
. SR ‘ i
ﬁﬁrgfgﬂ ERSRE RS Y m% \}k\tkm DOt athempaad
; W Ry B Q @ A QAR(STAR)

o TETEAN)

Givenbelow are two statemans -
tement (1) : Veer Sax ) ‘
Sta Savarkar formad an organization named “Mitra Mela' during the partition of Beagal

With his cOm 3
. . h N'ﬂh\ﬁ.\‘ ahd n’wzd ca i\ 8 .3 \\
tztement (11) : Brity €2 hontine of impordad ciot!
? o Inrt}‘mh S;\‘ommmg bad imposad 2 han on i\\w Qavarkar's book, “The Indian War of
dependence” before R eould he muvh )

1 f o ok . A e pablishad.
Inthe !gh:eo the abq\ © Statements, choase the most appropriate answee from the opliois greea Bailine
® aﬂ‘ rsnem (1) s false but Statement (1) s e, !
@) Bothtatement (1) and Statement (1) are trov.
0% tateme?; () and Statement (IT) are false.
D) Shm?‘em (1) s true but Statement (11) is false.

Question not attempted

®
RIAFE RTTE:

®) el Rz e

Do ae T ¥ e iRe
=S = O SERh

S SN ..W-\n.-} B e
% : “}-‘f IR RSO R o I8 WER ™=

=4 I): i TERISRTE=RE = % RIS ERRES|

&

STy el MW aaiaa il TR s TS El

@) SEE () o6 &, Sied =Y (1) TQE

-
4

B FE () SREEE ) ST

O = ) SR () W @
D) mmw%,éfﬁm(mm%z
B SFERITH

VA,B.C,D,E, E, G and H are eight friends sitting arou

nd a cirdle facing towards the contra, ot nevessanly sawe
neighbour of Eor DL Fis on the imumadiate ghtotBand G

order. H jo on the immediate left of A but His not the sur of B+

is the neighbour of E- C is between E and F. What is the pasition of G ? .

{A) Immediateright of D (B Secondtothe rghtof F Q ThirdtothenghtofF
(® Questionnot attempiad

(W) Immediate rightof A ¢
AB,CD,EFG¥H s7E e, TF S E TR SR IR E WS JEENE

 HAFSF el sReaEiH E_mqéavafi:tﬁ%ms%:aa wd Sx ek
. Fumeaa G w fed FME? L
LW jtxw:ﬁazrisiﬁ ® FFESRIT © Ey kIS
D amdm (5 S
ety ints which is available in polty form in Ragasthani ‘.\:\‘7‘}'\\\.“&\“\“ as. -
S e (B  Question notatteepiad . \§
; ' ! §
“ﬁﬁgﬁhw%mﬁmﬁﬁ%mm@mmm§ 2 : )
y B ™= Q= }\\ W’"" sy

3 ‘\’\“‘ - t? p;T‘O\
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9.

10,

11.

12.

13.

“Rrti Arrack Meryemment, i hadhes Sete was 2 m«ﬂmagamﬁ

(Chierne oo serst zppropriste option from bdow) ©
‘/'-ﬁ Fradnstries (2) Poorcondibon of farmers ’
O  Agriculiare E) Ouestionnotatempted
‘7—5;5‘:7“"7-—7-—;: M‘;Z';V..— ___m__wwf.fazzm"’

(=4 & otz 55T )

‘_.-_7" ‘Z"‘" C’}} TZAAT ‘1 ’7| ’-7"4‘ “ (C)
o zH E TFHFaAva

VWhi : " ;

Which place of Sikar zrez is fzmmovs for gota industry 7
% 3 :

(Choose the most zpproprizte option from below)

() Nechwa @ Khoor ©
(3  Khandelz (E) Questionnotattempted

2 il ol 8o TEl
UV E 7o B S T S 25 ABIEsZ!
2= - = = -
(F= 2 foahemm )

¢y =3 ® = ©
In which of the following cities of Rzjasthan Mahindra World City is located ?
(A)  Udaipur (B) Jaisalmer ©
({'}; I aipur () Questionnotattempted

.{ﬁ.) ZTE B F== ©
n,a;, w4 '? ; (E) aivj ,: AT

W hat is the most appropriate synonym of word “Sociable” ? :

(A} Inhospitable (B) Bankrupt ©
(Dj Friendly (E) Questionnotattempted

Given below are two statements :
Statement (I): Fishing can be done only in freshwater ecosystems.
Statement (I):  Fish is a cheap source of animal protein for our food.

Alcoholism

TETIA

Piprali

-~

44Ut

Jodhpur

Snob

In the light of the above statements, choose the most appropriate answer from the opbom given below.

(Ay  Statement (I) is incorrect but Statement (II) is correct.

(B)  Both Statement (I) 2nd Statement (II) are correct.

(C)  BothStatement (I) and Statement (II) are incorrect.

(D)  Statement (I) is correct but Statement (II) is incorrect.

()  Questionnotattempted

fafasmEfmmE:

FE(I): mwmmﬁz:ﬁm&aa (zF1f3=8) 4 8 5% T
FaA(ll): FEE TA A F Ay Uy WA U 5 A g

=qirR F4A & AvTE 8, 919 fru o, famed § B wEE 0gE 39 9 |
(A)  wEA () T T Al wma (1) 77

T (@) wmEA() A wmE (1)

@/a;ma)drrama(mmm’raa%n
a;m(r)vi'! #fFa wmaw (1) e #

D)

~B23
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I sovty I

weitss Orthents ang e

saitth l
; Ntar kb opde

!} ,«\m.\‘t‘!“ Wolw)
(1":’ Vertisols ) l"‘\!mq:‘\ Wt the folowiing sl type !
- -y . ) ; Tcoptbal
| ver SRR Al uee 1) Que () Ieeptinoty
i Lﬁ“ g Pt LR Tﬁ.al‘l\;':(\“.m Mattentd
e s RRLITE
XY aﬁ@m M) ‘Uv\:mm‘ ! -
(m A LA : (\) ge) [T ey
‘ | () Wy
g The indian Institute of Space Sefence and Tevl .
1, @ ‘]o.d_h}“l‘” ) ‘ :‘.\]“"“R\’(lh\r) Wan etablihed iy 2007 at:
0 v!sltgklta;tattnt\n:;‘ ) Q\:‘\“““‘ ) TIEvanantha i
gt SRET FIRITE ol e ey and CHOn ot attempted
A EIRRL ) Mig'u‘u"q'\ 2007 N sl vy venfie Fas e e e
Mt ) W y e
e faymamgay 4 : ) faeerdaqu
i (1) auE v
it T O fr @3 8
0 i “B) S r,'"“\ Y| ) ale
o BE ) S v
" g et SR ST, o i e s, e s ot ¥

() O T R
) forwe ol sl e, SR st
O 39 N R R e A
D) TR ST SRS S

@ SrRRE
18 ‘Whéuhhs boon chosen as the recipient of ‘413 Lokmanya Tilak Award'?
~(0)  Narendra Modi B)  Dr. K Siwan ) Dr.Mayilsamy Annadurat
D) AmitShah ()  Quuestionnot attempted
e o R o R g
B R @ Ry © o aehermplt gt
D) e @  orufaw
5 o v for ovet forare & (V0 W qar i ?
® ©)

) AR

EN = ?

X, u
» B =25 GON = 33, then P :
R 25% GON = 33, @ PEN R el A fay s &2
T P LINES e
o ‘\;fa () Quostion notattempted/ SEARTE
Sope works on the S ) refraction of light ©  reflectionof light

c'?:h‘ri"""' m‘ fl ;t';l;:( (1) Question not attempted
iffractionot 11y

ey fargia W o w2 o X
2 ;ﬁ_‘ ( @ W arqad (©) WU
bR () orgui

5 ATO. °
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. ?
22. ‘Critical Minerals Summit, 2024" was held in which of the following places ! @, * St
(A)  Bhopal (B)  New Delhi d
(D)  Dhanbad ()  Question notattempte 3
fretferfiaa 3 fg wam W FHfeRa frra afer, 2024 i 8 ¢
(&) @ T fae © W
D) R () Fgafa
annum in the number

23.  The ratio of the number of boys and girlsinaschoolis 5:6. If the percentage Incr ease per
ratio after one year ?

of boys and girls be 20% and 30% respectively, what will be the new L ; _ e
U Tt 1 Tgh i ergiRdl i HEA ST 5 : 6%|qﬁa@3ﬂimﬁmnm: 20% 3T 30%

1 =i gfig Bt 8, @1 U ad o IR T S 1 E?
A 11:17 - ® 10:11 © 10:13
) 11:13 () Questionnotattempted/ AR T snt’

24.  Which of the following trade policies introduced MEIS- Merchandise Export from India Schemeg?1 ; E—Q;

(A)  Foreign Trade Policy, 2021-2024 (B) Foreign Trade Policy, 2004-2009 2o 13°
(©)  Foreign Trade Policy, 1991 (D) Foreign Trade Policy, 2015-2020

(E)  Question notattempted

Freiferfian 3 f =TOR R 3 MEIS - 970 @ o firafa Ao T 1 2

(A) fodw omR Af, 20212024 - (B) faRw AR =fifd, 2004-2009
© fadw =R ifd, 1991 (D) faswr =R =ifd, 2015-2020
(B) ergaRa o
25.  Following is the full form of SLR in Indian Financial System is:
(A) Statutory Liquidity Ratio (B) StateLiquidity Rate (C) StateLenientRate
(D) Statutory Low Ratio ()  Questionnotattempted
ayet fora womedt & Fret 3 @ U9 el 3R (SLR) H T IR :
(A) ST TR ST (B) T Tl G © TSR IR
D) aufe =7 ST () STIAd T
26. Compute the: Binary Code addition (BCD)
= e TFEYE (BCD) TS &t 0T & :
2+3=__2__. .
(a) 1111 (B) 0000 © o101
(D) 1000 (E)  Question notattempted /TAd T&
27.  Which of the following was NOT the immediate major challenge of Independent India ?
(A) Adopted representative democracy
@) To accelerate the rate of industrial development.
(© Shapea nation that was united
(D) Development of the society
()  Question notattempted
frefefaa H |, T 97 #, F Y AeIferes T A T o 2
®) iR T # & as HE
@ @-waﬁmﬁﬁm%wﬁﬁm@nm
o T
6
~ B23
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o ,;g\akhapauanam Ind
_ T’g e themost appmpna:tnal Region is famous fo, which "
% opti hich type of industries .
' {h gupbulldmo P onfmmbelow) S
Engmee““ ® Qruunsml () Automobile
m estion not att
M mmm%—a}m%mw%‘ empted
il 53 WON SUIE fawen )
mﬁ*ﬁw '
ba ®) Srewm :
gﬂfﬁqﬁ“ T © 413
5 “Wwas the state of Rajasthan completely unified 2
§ SUNovembe N |
: @*1 1November r19:;9 (%) * 1 November, 1956 (©  30November, 1957
,_ @ , (E)  Question notattempted
30 TG, 195 | " ; _
30 ; 1% B 1 T&, 1956 © 30 T, 1957
g 17 1958 ® e

jEans ‘minus’, >’ means ‘plus’, =" means multlphedb)v’ and ‘S’ means ‘divided by’, then what would be

$9<7i5’ %:5 = 9 j’
X & r 9\%%\)’ qﬂ
> sﬁg% "o SRS’ mg@; Y
9 <7 =1 T &I : ™ ﬂi\: o

® L. w3

B Qu;:shon notattempted/ Sﬁ’dﬁa T

fasphereis8cm. Itis melted and drawn into a wire of diameter 4 mm. The length of the wireis:

neter o

mmﬂ?lﬁﬁﬁm@‘}ﬁrﬁ

2 P
g 1066 — cm 4266 2
B g & ®) 3 © 2 em
\‘ . .
2133 — cm (E) Question not attempted / STIRRA We
the following tourist centre is not located near Ajmer ?
uiab Bagh (B) Taragarh Fort (©  Daulat Bagh
Ana Sagar (B) Questionnot attempted
m%ﬁﬁﬁaﬁﬂmmﬁtﬁwmaﬁ%?
T ® W © e A
' ® SERawE

: "P.T.0.
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algun Shukla Navmiin 1542 AD in Dholidub

3 -
3. Givenbelow are two statements:
Statement (1) : Dadudayal (Kabir of Rajasthan) was born onPh
illage of Alwar. . .
villager Jiva, Jagat and Moksha in a simple language

Statement (II) : Dadu gave his teachings on Brahma,

Sadhukkadi). . : 4
(Sadhukkad) answer from the options given below.

In the light of the above statements, choose the most appropri-ﬂe
(A)  Statement (1) is incorrect but Statement (I1) is correct.

(B)  Both Statement (I) and Statement (II) are correct.

(O Both Statement (I) and Statement (II) are incorrect.

(D)  Statement (I) is correct but Statement (I1) is incorrect.

(E)  Question notattempted

TET(D): RS (TR F HeR) H T m%@zﬁgﬁ/m*ﬁaﬁmmoﬁwwmﬁ

SR
HAT (1) : ﬁﬁww(mwé)ﬁa@,sﬁa,waﬁtﬁammmml
S et 3 one H, A g g ferme § R el ST SR T
(A) W(l)m%.émm(umﬁ%r
@By e (1) SR we (1) 31§ T
©  wher (1) SR wer (11) T e € |
(D) e (1) T &, S e (1) T ¥

(F) HAIRaTH

34. Inthe givenquestiona statement foll

owed by two conclusions numbered Iand I are given. You have to assume
everything in the statement to be true, then consider the two ¢

onclusions together and decide which of them

logically follows.
Statement: India’s economy is depending mainly on forests.
Conclusions: ()  India wants only maintenance of forests to improve economic conditions.

(M)  Treesshould be preserved to improve Indian economy.
In the light of the above statements, choose the correct answer from the options given below.

(A) Ifonly conclusion (IT) follows (B)  Ifboth (I) and (II) follow
(©)  Ifneither (I)nor (11) follows (D) Ifonly conclusion (I) follows

(E)  Questionnot attempted

f%;qnqmﬁ‘,@mﬁnw%amamnmmﬁﬁmﬁmw%lWwﬁawﬁwwﬁaﬁmm
%,fwaﬁﬁaﬁﬁmqmmﬁanﬁaﬁtﬁvhﬁ%wﬁﬁwmwﬁ TR & |

wHI : s 1 veferaTe e ®9 @ @i W) i R )
i @ e onfefes feerfir 1 GUTRA & o YRG0 Shaet ST o @@ FEHI T30

R
@ e ufe, s s 1 g % foe fmar s e

WM%mﬁ,ﬁmmﬁWﬁév&wgﬁl
@ @ S EEE @ 0 TR
Ma‘ra)ﬁmﬁ(ll)mm% O) Fae frerd (1) SIEEw R )

@ T
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“ '
L ——
1

sovty

emergency is declared ¢
- ue . P
€ to the failure of the constitutiona! machinery in the states. Itis invoked

‘ e 360
(B) © Article352

Article 350

i GE ’lattcmpud
hﬁa'aﬂlﬁ% aﬁfammmmmm 1 SE T
iT’J[ Nl 2 |7IZ i'fl’] ﬁ:j %, AGIEE:

360 .
| (B) &% 350 (O AT
356 ® ]

eposited Rs. 8,000 at simple interest which amounted to Rs. 9,200 after 3 years. Had the annual rate of

estbeen 3% more, how much amount he would have got ?
6. 10000 - © s 980
Rs. 9,920 ()  Questionnotattempted

' e . . - <
»vé sommmwmmmmmﬁaaﬁmgzmmamu i it =T 3% S Gl

0,000 B % 9900 o * 9@;03,,,
= *
920 ® FERaTH of ™ g«'kw: wh
R ”)
2 P oy =
f the following is not a bitwise operator ? M = o
o £ i g ST T €7 5 52
o &

E) Queshon notattempted/ FAI F 8@{/8 %{VL
' g

t unit of data in computer is

@B Nibble O KB
te (B Questionnot attempted
s 1 T O T 3 ‘ @
' i
@ fE © (KB) . \FQ’*/
® A 2 G (w2’
oh Hydel Project is Joint Venture between ————— /’bqj-
Ind;a and Bhutan (®) India and Nepal (© India and China
epal and Bhutan (E) Question not attempted
WWWﬁ@ﬁ?ﬂ:zﬁammm%?
T S @ v ST © WA SREH

9 P.T.O.
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R

LB @-00.0-0.0-@ (-

Matoh Linad with List kL

Lisg-1 List-11
NMesmomials Place
@ Jaswart Sigh's Thada @  Jasalmer
B Ohhatess of Rulers and Paliwals (1) Bundi
@ Qauras Khamdon KiChhatnt (@ Alwar
@ RaahiGumdad @) Jodhpur

TR e g = s S G

v

=

@R TSR @ |
. N ~ o > X Wiy
k’& NI Ei‘{ TS 3 {f.s.:i:,l“ : a; )

QD TR E\\') SR
Chovsa the most appropeiate answer from the options given below:
B @-ERO0-@0-.@-)

D @-OO-OO-E0-0 i

Q  @-0.0-EQ-0)(D-®@ A

=

® Quesidnnotattempted/ TR ST

Given helow are two statements: e

Seatement {2 sz&‘.%u’lge&@faﬂ&om&e)f@naf&yof&ngﬂandmbian%

Staternent (ID: &)*cf&ngﬂMmm&mugﬁﬁnRajasﬂnn“i&wutgi\ﬁlgmuchmmfaﬂtoitbemuse

theseismpmperd@xﬁoaavaihﬁemﬁnepa&ageoﬁt

I the Beht of the above statements, choose the most appropriate answer from the options given below.

& Seaterment (1) is incorrect but Statement () i correct.

= Roth Statement (1) and Statement (11) are correct.

o) &-&W(lhxﬂ&tmem(ﬂ)mkmOmi

o Statecment (T} ks commect but Statement {I1) & incorrect.

3 Queestion notattemptad

s o S TS ORI TR ¥ D S TR T R -

== (- e S T T X e S T Y TR ) O I T S R S S
¥ =EvE T8 &

S TE § . 3 3 frg ok e 3 S T WS IR

=g () 7 & ¥ = wu= (1) 78 ¥

=== SmmmyE

s SREEQ R

wm‘eﬁﬁﬁﬂm(mmts

Y
-7
e

T
& =
{£ '
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T,
seﬁ(l)m%% A S
ﬁﬁmwﬂl)mx;nwz' ®) mmaﬁtm)zﬁm%x

W(I)W%mmﬂnm’%l

qgaﬁﬂsm

% among the following is th
“’m? e member of the Inter State Council and the Governing Council of Niti Aayog,

“ gt of Lok Sabha (B)  President (©  Chief Minister of States
0 Gov:t_‘;;?h (E) Questionnotattempted

"’W WWW@WW"TWW(WW)W FETETAR?
__@ a’rﬂ‘ﬂﬂm ~B T (c) T ST
) ® SRS

i ‘Councﬂ of Ministers of Indian Union is collectively responsible to the::
(B) President

ﬂ {Rajya Sabha () Questionnotattempted
)w%ﬁm%wmméﬁwwaﬁp

® T G
® SERa

(© Pome Minister

ﬁ‘am*;zi

ot the alignment of the paragraphinMS-w ord ?
®) Left Alignment (Q RightAlignment

(E) Question notattempted

@ T
a‘rﬁtfr@'ﬂ Q TG G

! “’kﬁlof the following is n

®)
® aaﬁ“fﬁﬁ

the most appmpnate preposmon from below in the sentence:
these days-
beset _ many ; problems = £

(E) Question notattempted

A\

11 PT.O.
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I;“Wm" I 3

the rights of the citizens and in pr 0“‘_0“0“ Of justie,
f legislature and executive is called :
(©  Judicial Review

48. The assertive role played by the judiciary in the protection. of
in society by intervening in areas falling within the domal‘n.o
(A)  Original Jurisdiction (B)  Judicial Act1v15tm e
D) Appellate Jurisdiction (E)  Question notattem . i & w
* s . ; FUIfeAsE & QATUHR H 8dy
AT g AR 26 ST S e Fryer yfir ST T : 3
ST W § =g & HaH @i a1 6el S ¢ 2
A)  IRfye afymfa B) =fge GfmEaaEs
Q)" sritelty st €)  IFarE e

49. Who was the Chairman of the committee on financial systems in I
Assets Reconstruction Fund (ARF) ? '
(A)  Sh.M.Narsimha (B)  Dr.Manmohan Singh ©
(D)  Sh. Pranab Mukherjee (E)  Questionnotattempted

A ¥ ot woneht w s Gl 6 sreae @i 8, frer aRerd % QAR w9 (TARTE.) A F
e 1 ot ? |
(A)  Hium. wiaw @) < wed fig © 4. fagam

(D) 4. yoE s () STERawH

Read the passage and answer the questions that follow :

In an often-overwhelming world, staying sane means learning to remember and allowing to forget. Phones
wallets, sunglasses, keys, a box of cornflakes, even a ukulele and, once, a gate valve. These are among the things tha
passengers have forgotten in cabs in 2023, according to Uber India’s annual ‘Lost and Found Index’. Further insight
suggest that Delhi is the most forgetful city in India, that people are most prone to absentmindedness in the evening -fron
7 pm to 9 pm - and that the festive days around Diwali tend to make people more distracted than any other time of th:
year. No doubt this information is amusing, and even useful - one could, for example, learn to be vigilant about one"
belongings during the weary, post-work cab ride home. But the real lesson here is that forgetfulness is inevitable.

In Remember : The Science of Memory and the Art of Forgetting, the American neuroscientist Lisa Genova explains tha
“a finely orchestrated balancing act between data storage and data disposal” is key to a well-functioning memon
system. In other words, as much as remembering - to turn off the gas, your child’s smile when you return from work o
that the deadline for filing tax returns is close - is necessary, so is forgetting - your score in Class X boards, the heartbreal
of an early love or the time a colleague slighted you. In their own way, both help maintain sanity inan often-overwhelmin;
world. Consider the condition of the titular character in Jorge Luis Borges’s story ‘Funes the Memorious’ whose prodigiou
memory forced him to note the progress of decay, corruption, fatigue and death and doomed him to be “the solitary anc
lucid spectator of... an intolerably precise world”. }

50.  According to Lisa Genova, remembering and forgetting data from your memory is necessary because :

(A)  itcanmake the person happy and contented (B)  forgetfulness in inevitable

(©)  this can make the person insane (D) ithelps maintain s anity

(E)  Question notattempted

©  =afge A

ndia, which recommended the setting up

Sh. P. Chidambaram

51. The mainidea in the write-up is :
(A) Making us learn that forgetfulness is inevitable.
(B)  Urging us to remember the things
(C)  Allowing us to be forgetful
(D)  Asking us to be more vigilant
()  Questionnotattempted

The key toa well-functioning memory systemis

. @A) to note the progress of decay, fatigue and death,

B) very importanttosurvive in an overwhelming world.

) palancing data storage and data disposal.

gD) reminding t0 pay taxes, and forget heartbreaks.

. t attempted
uestlon no
® Q
12
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[
orecise’ Means ;
.\n! othe most appropnate

: (L" stimate PPtion from beloy,
B v
5 wecific ( ague ;
(1)) I (E) it (C)  Abstract
rofilum':um( S proge N notattempted
1 ‘fjnfﬂ '1] fm‘-ﬁ ET’ ¢ntin human bembg are - :
¢ ; “"’“33%(31@:4@)?134
4
L HE 2 © 22
0 (E)

Question not at P g7
g Tso and Tso Morirj I attempted / ATART

o ;)ar)llnl\& land Sikkim IIlmala as din whl(cBl; part of Himalayan R]ange g apn> 7
Himachal and Uttarakhand 1y Arunachal Himalayas a

: 8 Queshon not “ttempted imalayas (D)  Kashmir Himalayas @m‘f
2/

M ﬂfﬁf—mﬁmﬁmm °

T

B) EvrHd feare™
o e SR SwrdE ferrer By Fw femrer

£ A v
" m Darrah Game Sanctuary was converted as
= ‘Mukundra National Park (B)  Keoladeo “Ghana” National Park
0 Desert National Park (D)  Sariska National Park

dr *’Queshon notattempted '

& w9 ¥ yfafda fEm e

(B) FHaemea ' wEr AYHA qH
(D) R TEa -
. NEY =Y
Y o HfY F ST E ? e
® AT (9 @  frora © IR
17T feet A A e e SR A S R
&9 (b), (d) 3R (e) ® F (@), (b) 3R (0 © F (), () 3R (e)
FA (c), (d) 3 () B R T

"tﬁe odd one out.

o o A o 8
(113
AV A
(D D &
\a%f | G

()  Question not attempted / 3TARE 9T

13 ' P.T.0.
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L E—— | &

S Anirenrod of wiforn thickness of Rogth 5.6 metre weighs 24 kg How wach will be the weight of SEon rads
the same thickuness and cach having eagth of R & w , ,
@ 18k ® 18k ©Q 1sls
O 2By ® Quextionnotateephnd s o
T TR RS 3kt o g e e e Bt vr A WA A TR AR SR T
B AR e ey e s ‘
@A 1wsfem ® 3w O R
© 23fwwm ®  agelewe Q ;' ¥ 4
60.  Choose the most appropriate articles for the sentence giver balow s
Butmine is not _typicalstory.lamystory | Scodmanisgeeerons,  Inshoans opczlend
Englishman is romantic. Ok, i€ v s fantastic \:w:vl W Bstery with g‘ﬁk‘x‘m’e
@ . theanava W acaanana
O  a:the the, e O arthe o thea

®  Questionnotattempted

61.  The total marks obtained by astudent i Maths, Scence, Social Science and English topether is 120 more Sem S
marks obtained by him it Science and Maths. What i is the average marks obtzinad by him in Socizl Saencs ax
English together 2 ?

T v, fagm, Twiive ER R il Y w e T s W R RTEITeSSE I T=
¥, A veive R ki T v e m ek = ¥

W o ® 7S © T YHSISIE=
® 60 B Questionnot attempted /STERE 5=

62.  Assets Reconstruction Fund (ARE) was set up for the purpose of
{Choose the most appropriate option from below)

(A) Toassist Reserve Bank of India on managing Commercial Banks

(B) Totakeover the bad and doubtful debts of Natiorabsed Banks and Development Frmenoe Buxtetines
(O  Tofinance the Commercial Banks on low rate

(D) To finance the Development Finance Institutions on low rates

® Question not attempted

e Eiinia fR AR St §iw
(Fren R R g e )

() s T e s e S v w1 ¥ i

® Trgraga T i far fr weeel & wow ok SR el 9 a9 fevn S S § e
© pforfas FH1 B FR T W v w9

ﬂ/fﬁmmmﬁﬁmﬁwmﬁmm%m

(E)aaaﬁaﬂ'ﬂ

-

7

»I!.

P
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AR BEY O A g | !

e I I gt ) n.-./““" P gy | g

.ii,‘.hilmd. '"”'"‘“Iu i HEE O 0 Pl iy i Grenivin WM"“ a hattery al Y s dlan conne ful,
R HIINIINE Yk
hﬁlj‘ll::‘rvt:.hll‘:: R INTTRTI LT PYTTRR TN

il LARALAY [ RRE I 0 by

‘?“] it LTI Wi el e

fi (11 LN TR TR TR T N WA b 2 )
; .lli*?““"" L N AL LY TR

i
1 “H,t,l””“
1
e,

1), (0 e (o) Vi m(.l.’n ”'""!"""”‘l'n“/"loImluwf
VAN () only li{ () el () oty () (epand (dyonly

i il B Ceation ot e !

lilmmz_ Hill :‘%“ VRA 6 00 wfram 1t rw,ﬂtr:;lzit"u:ff;z‘:‘.'\/ ) Ayl of) o) o e frf 1 it
il gmnm URENETE TR Y

6 AT Toteaeiie eqigp i

W SIREVA S0 bt wferdg g2 0 6

@ Rl i e 0n A B

i () :\I]INM) (1) e (1) T () () el (¢) st (d)
(1) () A0 (1) arli w

i " ::' ‘“':“‘“"“;l/\l"h‘:li:‘;‘; l‘;" ”'“ M"llﬂl' H‘”y“nr“h" h‘ M‘”,‘-.I' Il)27 ‘”"hn”un”p “u- flv'}’,lt‘»‘»‘iivt'
v atoina of the caste Findns,
it (1)1 D A b established e Bahishkricl fitkarini SGabhinin
4 and greievances of the dalits before the government,
aht of the above statements, choone the most appropriate answ
atement (1) b incorect bul Hiatement (1) s correct,
N I Statement (1) and Statement (1) arecarrect,
ath Htatement (1) andd Statement (1) areincorrect,

faterent (1) oo { it Statement (1) 14 incorrect,
Dieation not attempled

fiu, i ,, o
vl ande s 1927 1 fie et 7l wferreft wenst w0 vl &3 g were e w A
fan * r e 1)
wf apAgdd 11024 S I TEG e UL aferdl il @il
el A e il e
el A aneie 1, WA (R (el i 21 vy R HCL
(1) e Al e (1) 1l B
) sl e (1) il udt ¥
(1) af At (1) Al e ¥
1) ) &, Al e (1) e B

afta ww

1924 to highlight the difficulties

ar from the options given below,

el s farpradl w1 3o we g afevpa

y of [ajasthan?

Fthes | i apro-based ndusts
Ethe tollowing i not an ap, () Rubber Industry () Leather Industry
ile Industry b (1 (_)unulinnnulnllt'll\!"“‘l :
el i snai w7

vent Industry ¥ b W
) @) W e R Byt sl <
) e A

Woye el g
WT;*‘ aein (1Y) apafiawed
1 5 P-T.o.
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e e e !

the Constituent Assembly of India ?
(O Rajendra Prasad

66. Ny - . N - ’
*% 50 among the following moved the ‘Objective Resolutions’ i

) Jawahar Lal Neru () BN.Rao
O} BR Ambediar (] Questonnot attempted
FeEmEs g IS soggdasASw g ::’.??q' TFeq Tqd fat?
Q). S aE R ® TEE © TEETER
0) === F=== ® FEEvE
67. ‘CAZRT instituteis mainly involved inresearchof _ -
{(4) _ Mining of Minerals
(B)" Sustainable farming systems in arid ecosystem
(Q " Animal Husbandry in Desert
(D)  Land reforms
(®)  Question notattempted
Feiaias 5 3 e o §'CAZRr SR TR ST S wE §2
(A) wEsi=EE
(B) IT=Tl=amiandisss %ﬁim —
(@] T=EE RIS R
@) - fE W
68.  Which of the following dams of Rajasthan produces Hydroelectric power ?
(A) ~ Swaroop Sagar Dam (B) Mahi Bajaj Sagar Dam (© MejaDam
(D) JawaiDam (E) Questionnotattempted
T 71 fEaiEd 3 § 31 9 9" Saragd e S SdRT S © 2
(A) T=EIIFREH (B) @I IS QIR |y © THenaEiy
(D) FEAU_~ () SHARd A
69. Who was called the Father of Indian Renaissance ?
(A) Keshab Chandra Sen (B) Debendra Nath Tagore (O  Ravindra Nath Tagore
(D) Raja Ram Mohan Roy ()  Question notattempted
SR AT I R e T2
@) FEdzE B) TE= Y SN ©" &tz Ty R
@) T T HEA T E) IR

From the options below, choose the most appropriate meaning of the underlined idiom in the given sentence:

70.
faila’s feelings “ down in the dumps ” is a temporary phase.
(A) - Feeling very sad (B)  Poverty (©) Malnutrition
(b) > Feeling elat = (E)  Question notattempted
16
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[
| |
JOW AU WO SEaten gy

Give : X
Sl Ty

At rawel
Nutrien t?n:“k RS mostly wsed in the

X (S ¥ W, v 3
a_\m\_\."“‘ (i “h“"l‘\mlv P, traits and flowers.
0 Nl\‘n\
atvas

manufacture of :4upvrphmplmtc which is utilized as a

YOk has bee .
achhill, an l‘hu Ar ::":;;“‘ll‘ dat Maton, Karbaria-Ka-Gurha, Kanpur, Dakan Kotra and
Aravalittormation of the Pre-Cambrian age near Udaipur and Jaisalmer

solightot the above statemente.
;&ts‘i\wnt (U RCRTINA t:"lt ll\\‘\:t ‘J:“‘“" o
| { b Statement (1) ang State \
8. ALNR\ Statement (1) ang State
3 ﬁ‘) statement (1) s corvect byt §
@ 3 Q\&t\“i““ notattempted
Qe R R,

el PR S i, e ' s i 3t e G

A W Q) B, W QORI % fowfon 3 waipy ot st &, i fos e, el afie et 3 <irmn

““m‘ ‘_;mfi SV NG, SR SR, TR, e e i i v  feem & 19 i g s
YRl & i s st s '

mm?r ST 3, 9 faw o ferweid 4 T e

R (1) TSR QA e (1) W @

maostappropriate answer from the options given below.
atement (1) is correct

ment (1) are correct,

ment (1) ave incorrect,

tatement (1) is incorrect,

\R

feed includes:
the most appropriate option from below)
entrates and maize only (B)  Roughage and concentrates only

Maize and barley only (D) Maize, barley, pearl-millet ete.
tion not attempted

W we Wi s

28 R e sugaR fawed g)
T T A ST R
e i s fabsa s

@) e we e W
D) T, S, Qe genfa

'ﬁidin\l\ state recorded the highest wind capacity during 2022-237

the most appropriate option from below)

(lS) Kdl‘lhlltl‘\d ((:') (-;“i\"t\t
' l yuestion not attempted
ajasthan #B «Q ot
A fig et T T AR W (feiw fafufe) <ot @ w2
A W wagaa faded W)
e @ © I

@)  ori ¥

~ A

P.T.O.


https://www.geniusjankari.com

S
|

74, Which is
(/\l)m h l\“ lll\.u largest ocean in the world ?
Arc ..(),“ ) ‘( «
©)  Atlantic Oco Bl TaabaOg At i ST
w cean () Question not attemptec
e 3 ey sy werarR
A) T e : T HETAT
A) AL ®) —Fwid wErEn © fewe
(D) STETEs WErHTR () st ¥
) A 92
75, addt @ gite A o @ we v
) gy - FHf
; ® 9 =
®) T ()  STaia we =
76. Co-founder of Non- Aligned Movement (NAM) was
(&) C. Rajgopalachari S F6 Nehrt C i
v i > { (B)  Jawahar Lal Nehru (©) Mahatma Gandhi
(1)  Sardar Patel E : 1
Ao ' ) Question not attemptec
eHTe STRE (NAM) & He-Heeme 9 :
(A) W USETETET B) AR A TEE © eI ifed
(D) TER ¥ - € [ ¥
77+ \\v"hich country became the world’s first country to make abortiona constitutional right ?
(Qhoose the nl‘OSt appropriate option from below)
(A)  Malaysia (B) Poland (©  France
(D)  Holand ' (E)  Questionnot attempted
T Y U FATER SRR S ST e A < 2
(et A @ we SugEa faeed I4) = :
() TR ®) Uris - - © WA
O s () ST W
78.  Which of the following banks is known as Bankers Bank in India ?
(A) Indian Overseas Bank (B) Punjab National Bank < i
(D) Rescr.ve Bank o.f India (E)  Questionnotattempted L
Frafafaa ¥ Q feg s = aRE N g dem & H T S S © ?
() Efem SiEs a9 B) A S © wdaRed
. 9%
(D) W& ESEEED () STaRd T
79.  The Rakha Copper Mines are locatedin_ .
(A) Madhya Pradesh (B)  Rajasthan
(D) Od feha (F.) QUQSﬁUn not ﬂttempted (C) ]hﬂrl\hdnd
T I aE wE fed €2
(89 FETUS (%) © wREs
o s © s &
80. Which of the following Constitutional Amendments gave constitutional sta e
Raj institutions in India ? ‘onalstatus and protection to the Panchay
d
A) 75 @ 72
ED; 74th () Questionnot attempted © 73d
‘ s fieg G - vt 3 s W Tl TS Hrensty )y o
frefatad 7 9 frg gawnfs daa LI e
A 75d @ 72 T =it si e wr 12
(;» 74t () S S 7
(t i
18
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k,“ring question ea
fol g ch set of numbers follows a similar pattern, find the missing number (7).

WWW R LG EL Wm? 7 oA A (7) F A

°

© 11
6)) 19 (E) Questlon notattempted/ 3 At F
J"f ® e © I
e‘\Of 'the following Iron-ores known as Irén-Carbonate ?
. omt‘e (B) Haematite ' (© Siderite
] Magnetlte (E)  Question notattempted
e ‘ﬁﬁﬁﬂémmﬁ ST & ©9 F ST Sl & 2
® e o f==
€ ST
current Chairperson of Rajasthan Human Rights Commission ?
istice Ganga Ram Moolchandani ~(B) JusticeN.K Jain
ce Shri Ram Chandra SinghJhala (D)  Justice Prakash Tatia
tion not attempted =
T SRR STl &1 STA BAE 2
T T e S B AR TSR
=rEgfd YT drtd

st Yy e e e

the following trees can help to prevent forest fires in Himalayan region ?

ion of which of =
- the t appropriate option from below
mos APFECE (8) Mahu (O Rhododendron
% (E) Question not attempted
F 3§ w5 T gy e mﬁmﬁmﬁﬁﬁﬁmﬁw%?
' ® TG © UTSEIA
@ AT
ati FlOOd’ s aSSOClath with T(;r(;tn RchlllU()“ ((:) White Revolution

©) Question not attempted

S ofa if @ © vWwFfd
@ S

19 P.T.O.
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87.

89.

93.

—

In which year was the High Court of Rajasthan established 7
Tmmmmmwvmm:m’:/ @ 1919

(&) 1951 (B) 1948 o P ’

¥ tod / FATHD 721

M) 1950 (E)  Question not attempied/ <=3

Choose the most appgoprjalc indirect form of the given sentence -

“Wait for me at the _riggéf’, said Rahim.

(A) Rahi{n requested her to keep waiting for him at the bridge.
g}him told her to wait for him at the bridge.

~{ Rahim aske(j,to wait her at the bridge.

(D)  Rahim said that you have to wait for me at the bridge.

(E)  Questionnot attempted

Which of the following tourist centre is located close to Barmer ?

(A)  Sam Sand Dunes (B)  Kiradu Temples Q Shaguhlot
(D)  Natanion ki Haveli (E)  Question notattempted
ﬁwﬁﬁaaqnzmmm?zmxwfzﬁ/ ..

(A TERH B fergdim — © TR
(D) WA F1 zaet (E) FEETS

Which of the following states has the highest solar power generation capacity ? )

(A) Kerala (B) Rajasthan ) Hamdiaatl
(D) Karnataka (E)  Question notattempted

=1 # 3 g 19 1 1 = zer ava T s 20

A) F GBT' m O qiFHcGg

©) FiE ®) SgEraw

Tea is an indigenous crop of : =

(A) India (B)  Britain ©  China

(D) SriLlanka (E)  Question notattempted

) ®B) faﬁsl ) O ==

(D) i E) FFARETA

Which of the following input devices allows to input alphanumerijc characters and special characters into
computer ?

(D) Printer ) (E) Qx’x&shon not attemPted

frefafea 3 A #iF &1 3792 feams, avisiaa quie (characters) 3R fig T (characters) 9 Tz § w3

St 2§ 7 ‘

Yy Far ® T O wH=x

o iz (E) FIaidues

First human to walk on the surface of the m00$ %az .

Sunita Williams (B)  YuriGagarin Neil Arn
(A) Bz AldEn ()  Question not attempteq © €l Armstrong
<z 3 TAE T HCA A el WA i
e fafea= ® qd O 5 s

(A) i (F) sraia e :

20

~ B23


https://www.geniusjankari.com

‘ e any son haVe '
o ::aﬁ' & :n>h~e]d € postof Chairman of NITI Aayog since its formation (till July, 2024) ?
BRI ?{ € 3

T (M, 2024) T3 oy g sy vzt A g0 8 2

® 5 © 4 0
(E) Question not attem pted/ Fyaf@a v e
1ginally named as Imperial Bank of India ?
(B) Reserve Bank of India (O State Bank of India
. (E)  Question not attempted
ﬁ“mﬁﬂ%mmﬁmmm?
2 4% A i B) T o e Q E Rz

ey o 7™
Bt L (E)  Questionnot attempted
UK 1992iﬂifauﬁt‘immaj@j@,é?

(B) e © 74
E)  FFaRa v
sthe main function of central processing unit (CPU) in computers ?
process data (B) Todisplay data (©  Totransmit data
Tostore data (E)  Question notattempted
T2l WEfem g (CPU) M gm s ey
S o S (B) ST 1 wafeia O siwg = wEfm s
=1 Hufed &0 E) FO@IE
tich month is the festival of Kajli Teej celebrated in Bundi ?
ravana (B)  Phalgun (©  Bhadrapad
tra (E)  Questionnotattempted
H el s ol e 941 H S €
(®) WA Yo~ wEw

(F) Fafd T

* most appropriate option for the passive form of the sentence below
g the church bells as a flood warning

church bells are ringing a flood warning.

church bells were rung as a flood warning,.

Sa flood warning, the church bells have been rung,.

€ church bells are rung as a flood warning by them.

stion not attempted

21
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T — e |
[

W Whatisa Spevial Eoonomic Zone ?

Choose the most appropriate Option from l\‘\\‘\\')

A) A L » il e N '
0 Aunique zone which s subjected to higher taxes and duties.

R RS ~s » N 3 ' .
¢ Aspecial zone created in the capital of India for cortain entitics.
Q) Aspecially created area for those with income of 1 crore and above perannum, R s
O Aduty freeenclave of : cign territory for the purpose of trade, =
& A duly tree enclave of development and is deemed as foreign ter

taritiy
E Questionnotattem pad
Ry wiiw Sy s
N\ "@::ﬁ:«:&‘ﬁa‘rmt{ﬁaﬁt\gm‘%mﬂqﬁ.
® wEw T O TR ¥ R s o Ry QA1
Q ﬁﬁt‘mmmxﬁmmwmﬁmmﬁwmm'
O N ORI OF o S, yew ok o i stea A ke 85 7w s

1. ‘Golden langur’ is main fauna of which of the following biosphere reserve ?

A2 Manas (®B)  Simlipal (©)  GreatNicobar
(D) NandaDevi ®  Question notattempted
N TR ® e © WefEmEr

LB TS ® SgRawH
102 Which of the following state is known as Molasses basin ?
A) Trpura (8)  Manipur ©  Mizoram
(D) Assam (B)  Question notattempted
FeEd 8 9 9 T SRS 3 § T 8 m e m Y ?
@ &R wB) R © el

O F= B SAgEaTE
105, Who was the Chief Commander of the Mughal army in the Battle of Haldighati ?
SF. NS ® Hakin.\ i, ©  Mehman Singh
(@) ManSingh (E)  Questionnot attempted
TR F IS § T S S AN S 2
A |EER ® T ER O e
P T ET () STaRa v L
104. Whichof the following area did not cover in first stage of Indira Gandhj ¢, MU
(A) Barmer (B) Ganganagar  project ?
O Bikaner (E) Questionnot attemptog © Hanu mangarh

ﬁﬁﬂ(ﬁw ¥F wag W ¥ frefafaa 4 S g m"“ﬁl‘@ﬁma

T @
h Y ® o © =g
o

22
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ETSLATY st.m‘mentx \

{: Nwer

. e
. ic activity from th

. ‘ ) . -eCconomic ac
tinal Asan Mportant contre of political awakening and socio
: v .\l\\rs \ W “in‘\h\\“\th(\‘“tur}'.
., . z N\ \ . >
an: l\_\::« X, ‘l‘ delogate from Ajmer- M
Stonmal e 3

1 Longress,

: f the Indian
\nwars participated in the Allahabad session o
ol the above State

Menty,

choose the
tement (1) is incorpygy but

i iven below.
mostappropriate answer from the options given
Statement (1) is correct.

are correct.
and Statement (1)

are incorrect,

statement (1) is corpegy but Statement (11) is incorrect.

Question not attempteg

o | ¥z
1991 V= ¥ sifmasi g ST T e s i
EERID IS

7 i feani
T 188, § W“‘Eﬁm%mwﬁmﬁm@gﬁmﬁ T
ERCISIER #}ﬁqmﬁ?ﬁ!ﬁﬁémmwgﬁl

Xls
® -ppi Nﬁﬂﬁa;?‘f \
(E)  Questionnotattempted/

; rence makes 7 revolutions in 6 seconds, then the o )
30 . incutumfe_
1 of the engine of a train.

30 i T 6 TS A 7 TR TR 8, Yot o e
| R

& & o & e : (D

B w2 |

© 20
®) 18

Question not attempted/ STIRRA we
(E)

P.T.O.
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B— il |

108,

109.

110.

111.

112.

113.

o000
Q00
QOO0

,”"’ : ) " Coﬂ'ect opﬁOl’l
b hlt;ir:,lt :lwn fl;;tqu-es are telated in a certain manner, From the given Opﬁﬂ7 ns choose the
e similar relation with the thirdg figure 1o f‘,’f;]a(,ceqU@tion mark:

YT 71 s = 85135””33’-
j Vm,:ﬂ Aﬂf’ffr:mT g fafoeg % 4 THfir ¥ raf m £ 5 T4 Feteic] qAa oy Fd g8 A
T A0 ) e w51 v A

(B) D)

000000

©

(E)  Question not attempted / Zafr 973

The artificial satellite which is seen at fixed position when viewed from the same location is called :
(A)  Geostationary satellite (B)  Non polar satellite

(©)  Polar satellite (D) Remote sensing satellite

(E)  Question notattempted

Tz Fom T forit Tt T A s 0 w T e feafa (frre reiem) # S T E

o y-faE T ®) = e T

© e e ’ D)y =74 HfET (Remote sensing) S99&
States Reorganisation Act was passed in: : i

(A) 1956 B) 1952 =D © 1953
(D) 1955 ()  Questionnotattempted

73 Yted SAfufTad %9 wifta gem a1? =

@y 1956 1 ® 1928 o o
D) 1955 H (B) HAIardTH

Integrated Child Development Scheme (ICDS) was started in the year :
TFFa e fawE A (AEELELE.) fra ad & & T &1 ?
(Aa) 1985 (B) 1970 . O

, 1975
(D) 1980 ()  Question notattempted/ FTARA W

In how many agro climatic zones, is the state of Rajasthan divided, for the pu

gﬁ%mﬁ,mﬁmﬁmiﬁmﬁﬁﬁmmwp

: :
@) 20 ®) Yo 10

rpose of agriculture ?

o) 12 (E) Qucstionnot‘fxt‘tempted/amﬁam
iy’ # Ffed A

)y steEdME
() T S RA T 8 e

% E)
D) agale

~ B23
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T CSEICGREIENEN . SRS

-
fagmm
(i) 7RI
(iii) - EqTR"
) ST

: (i), (0)- (i), (c) - (i) (d)- (i) ) . o oy
: \m), (i), (b) - (i), (c) - (iii), () - (V)
(i) ;(,2, - ()~ i), (d)- iy o 8-83),‘(3) .(ngf)(c)-(ﬁ), 00

®) oS AR Y A e
D) T o 3 o @i e e

B ¥ A (WAL
() SIS
f World History”, book is written by ;
tma Gandhi (B) - Jawahar Lal Nehru (©  RajaRam Mohan Roy
urobindo Ghosh (E) Questionnotattempted
i oS Fet”! T o ferh 32
et ®) O T TE © T TH A T
(E) ;3‘35‘&“ LS ‘
’s national flower ? L8
(B) Lotus ©  Rose

()  Questionnotattempted

® 5 &
(E) aﬁ?ﬂ:{ﬁ WA
- ; the phrase”Fit to drink”:
most smlitla;ble word for the P(B) Potable (©  Venial
an.d Saline ()  Question notattempted
ToTaTe faan T €7 | -
T © I

‘ Jtained from plant oils :
i ioxi oluble and obtainec | A
is an antioxidant, fats ) Vitamin Bys ©  VitaminC

(E) Question not attempted

mi e s e e QUG fRAT S
o # oi 0 A F o
RRGE el o f s O fafe @
(L.(’r‘

25 = P.T.O.
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123,

124.

126.

127.

‘\'hj.g . .

(A) h‘?.ftihe following amendment act providad wservation of seaty 08 wamen, i the Ugban Local Bodie
< 74% i ©) ot

© 73 L

e Y 1) Questionnat attempiend _ ‘ X
T TR Frepr ¥ e, g W 3 omam v fraftif A4 Fu it wher st g
T ? X

(:'\) 74-3; O‘L (\Rﬁ‘ (« ) ol r‘l'
© 733 Lo gl L S
A (B araita v
In PowerPoint presentation, animation mainty decides, ’
(Choose the most appropriate option from below)
(A)  how the shdes rotate. @ how the slidesappeat

(©  howtheitemsintheslideappear. (D) how thetext looks,
()  Questionnotattempted

SiaRaiEe TR ¥ Ui ger w1 R w fulie s ?

(=1 5 | v Sagee e )
@A) TS R ®) e 3R e X ¥

© e H ag R RER AN O v R R A
€ S

Which of the following is not a social networking website ?

(A) Hotmail ()  Faccbook (©)  Snapchat
(D) X (formerly Twitter) ®  Questionnotatte mptad

AT § | T T T Yot S @ ¥

@ TR ® I © wmwEe
O X ((@EAE0 ® 3 N

All the aspects of populationare discussad in which of the following subject/ science ?

(A) Cartography (B)  Ecology ©  Demography
©) Oce anography ()  Questionnotattempted
ﬁqﬁmﬁammm&w SIS S RAC R

(A) THAEAA ® R ©  SERiETR

o wERfE ® SIERIE
Wﬁﬁﬁm%@fimwlﬂmms{mﬁ?

of A ®) W © T
o Fad F oFERaw

The profit earned after selling an article tor Rs. oS0 is same as the loss incurred after selling the same att
Rs. 426. Find the half of the 50% of the cost price, ’

. v o~ “‘ )
(A) Rs 13825 ®  Red™ © Rs. 150

D) Rs. 148.25 . () x';)ue-stion notattempted
O g 1 0/ T et A T ST 426/ 0 et g e 15
.5 ® T 190 Q:Q,O
@ F 135.27 i © ® 150
” 148.25 (E) 315]\“'((13]‘!(3
&)
26
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ACCuracy © ' Versatility
T chsf‘i‘)n notattempted .

W ®) e ©

: P’ econd half of the Enict - €)  Afafayys
1 z;f O{t}leammffm{;h letter from ﬂ?e laet;ftzr?;t‘f M’ is written in the reverse order, which letter will be sixth to the

St D THT 210 pomir o 4y s . .

‘ﬁmﬁqmm; M AR AY' 31 e g 1 foren <im0, A A0, 9 B 77 4477 2 7T AN

ﬂ“’i’f o o fans Ty WENZ

b ® H Q T P

v () Question not attempted / Aard 371 Thi AL 5
sates created in 1960 werq . p Lt AT}

130 o Haryana and Himachg] Pradesh

0 Maharashtra and Gujarat (B) Mahfxrashtra and Punjab
Queﬁtion not attempted O) Mampur and Tripura
e H IR T g
LR o L (B) HERIZ SR Ye
ORI 1 T (D). T iR frga

131. Whichof the following district has highest production of cotton in fhe state of Rajasthan ?

() Jgi:f)ehner (B)  Jhunjhunu (© Bikaner
0) JS“ Ganganagfr (E)  Questionnotattempted
; mimﬁmummw Al T 7 9 f9en &
) ®) 71 © ==
0 A TR (B) FdEsA
13 'EQClobal Summit on traditional medicine was organised by the World Health Organisation in which state of
W}';.";Cujarat (B) Kerala (© Uttar Pradesh
- Karnataka ()  Questionnotattempted
ﬁ’mwmmquaﬁmv{qmaf%ﬁmw I % f3 T et T 2
o W (B) Fd © ST

ia's context full form of CSIR is
Corporate, Social and Industrial Besearch. !
Council of Scientific and Indusfnal Res.ear;1 !
Council of Science and Innovative Researc_ n
uncil of Social and Industry Reproduction.
estion not attempted .
T F CgIR Y B A !
ez, Hrel U8 zusfgad frad =
e it aEfefE TE TEfE I

27 P TO.
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134.

135.

136.

137.

138.

139.

140.

141.

— R

. -
( ) ESSIOTI_ ) ] rocu T dﬁ("l

A d d | |
(& WhO getS 20 /0 markS ‘(llls b)’ ]5 n]("l& but anL’tll(l G ‘ ¢ ' ‘

than the passing marks. What is the passing mark ? F=igan LR
zo/,wmwmmwmﬁm‘m% Afert 42% 31T W@ F AN A i

m'\ﬁlz% ﬁ%wﬁaﬁmwmm‘g, _5_4"‘-;
A) 33 B) 30 7::-? :*?E—g/ :{f(q

40 it
©) L (E) Question not attempted / AT W37
Which of the following is the lar i i inei i

: gest zinc producing mine in Rajasthan ? .

(A) Kayad Mme . (B) Rampur A gucha Mine 7:_ (Q Sindesar Khurd Mine
D) JawarMine (E)  Question notattempted @r
ﬁwﬁ@mﬁma@‘m“ TIAR?
@A) SR ETA (B) THE (=1 EIR / O fFRE@EET
D) @A €) R yE 51 \w
The first Chairman of NITI Aayog was : ?5 v
(A)  Dr.Manmohan Singh (B)  Sh.Narendra Modi (O Sh.Arun]Jaitely
(D)  Sh. Arvind Panagaria (E) - Question notattempted
Hifd SR & T o778 3 =
(A) 2 g9ded fog (B) 5t Wz Wt © =i 3Fu et
(D) 4. SRR T HTiEa ® - a;aaﬁam

What is the percentage of reservation for women under MNREGA Act, 2005 ?
(Choose the most appropriate option from below)

TR TR 2005, % 989 Afganed & fou smem =1 wfowe feam €2

(fr= § & wad suged fased )

(A) 40% B) 20% Q- 5%
D) 33% (E)  Question notattempted / 3Tqwid 757

=98 | %19 g = gaigar 6 e 2

(A) e SBy  FOT O =6
O g () St v

Choose the most appropriate word to fill in the blank in the given sentence :
Ifthey that picture lower, people would be able to see it.

(A) don’thang (B) hung( © hang
(D) would hang (E) - Question notattempted - R
Rhinoceros are found mainly in one of the following National Park/ Wildlife Sanc ctuary :
A Mhadei (B)  Kaziranga C g
ED; Rajaji (E) - Question notattempted ©  Periyar
ifg1 gead: = A forg T /AT ST {9 S § 2
S (B) - FSEm .
A) O tWEr
EIEid (B) AT
(D)
28
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142.

2%

What should come in the place of question mark(?) in the tollowing alpha-number series ?

frefafad ARSI sSaa vy o (?) ™ T 9T e v R ?
.X‘4Z‘; WUI P‘ZSP, 1;4("\’; ? ’ l) lf)qq‘\.

—p () GI21G 20 e (B) HI21F O GxiF
n \ . .
J/(D) HS81F — \} (B)  Question not attempted / 3FART ¥
143.  Whichcity of India hosted 141t International Olympic Committee Session ?
(A}  Chennai o R ) Delhi {©Q Mumbai
®B)
) Kolkata (E)  Question notattempted
WIS F 68 TR Y 109 siieda siwifes w5 = s fem 2
AN S ® feest © =
(D) wraEmE () S Oa =
144. A person is facing East. Then he turns 135° in clockwise direction and finally turns 18" m anti-<clockwise
direction. In which direction is he facing finally?
(A)  North- East (B) West @ South
(D) South-East (E) Question notattempted
T e g fKan =t aﬁt@_ﬁ_rga_%’imaﬁam% ES IR R 5@::%‘3?: IR I s RmS
i e Rm s i m s a
n(.pf)/m-;ié T ® wRew
0) UG ® FEkawT=
145. The movement for a Separate Andhra was called as
{A) TheRegion of Andhra Movement (B) TheVishal Andhra Movement j': 3. !
‘ N =T N
(©) The Vishal Movement (D) TheTelugu Movement =8 %S )
(E) Question not attempted A
3 iy & o g Ao w1 AH 91 ‘W~ =
(4) =iy &z AR ® e sy SR R @
© favme weH D) Y S e &
N0
146.  Choose the most a ppropriate Hindi translation for the given sentence ,\c"
Youranger is justified. - "‘f
B s A B) TH TRR IE-TF R Q ¥ =& e k
©) SUFIEAAGEEE FE €L (B} Question notattemptad
~B23 29 PTO.
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B SR TR TN N i R RN R
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\\ "Q\“i“ KSR ‘%\M wREE ’:x.\

R R
IS GUEN

MR O N IRSDNRIN RN .
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AL LR B DRI © vty orlanguage
By SRR RSSORR AD Quatidn R RN Cata
MR Pheiive N R R R TN TR et Kavia s whtor Neha s Maya. Tow is Neha refated to
e Gt
S W B Tenawlden «)  Matermal Aunt
B Quu A Quaannanemp _
TSR E TSIy ;%ﬁwﬁr&ﬁw\ﬁ%mﬁwmmw%?
- € » W GO i
o TReR PORR o aba
- wuuq&‘:hrm Srehaninrch R TndirsRaraswan CiATiFation s in Pakistan ?
AU Reowee B DoRvR ) Raipur
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